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= 101,906 101,906 0
Jl 626,771 625,458 1,313
= 6,011 6,011 0
= 218,114 218,114 0
= 3,097,599 2,923,873 173,726
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= 1,812 1,812 0
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= 229 229 0
= 227 227 0
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= 229 229 0
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— B2AXA(3,8508 * 34,540H)
& & 132,979,000 132,979 83,006 49,973
A2 & 2,255,177 2,158,801 96,376
= 93,539 93,539 0
P 546,167 544,854 1,313
= 5,782 5,782 0
= 213,925 213,925 0
= 1,395,764 1,300,701 95,063
A A 437,240 437,240 0
= 33,854 33,854 0
Il 66,116 66,116 0
s 40,000 40,000 0
= 297,270 297,270 0
SAAALHSAHAL (D) 66,500 66,500 0
Jl 33,250 33,250 0
= 33,250 33,250 0
201 LEH2HH| 26,540 18,300 8,240
Il 13,270 9,150 4,120
= 13,270 9,150 4,120
01 AtS2t2ibl 24,840 16,600 8,240
O A2 ad23 (1,874,000 « 10&)
33 18,740,000& 18,740 10,500 8,240
Jl 9,370 5,250 4,120
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301 Let24= 4,000 8,000 24,000
Il 2,000 4,000 A2,000
= 2,000 4,000 22,000
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= 2,112 3,552
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10€) 23 1,396,000& 1,396 2,000
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= 1,020 1,470
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= 0 1,050
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= 5,880 3,990
= 13,723 9,311
10 SAAHIEA S 39,206 26,602
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Il 25,000 25,000
S 7,500 7,500
= 17,500 17,500
101 el H] 6,000 0
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= 900 900
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p 6,957 3,000
= 2,087 900
z 4,870 2,100
301 Lere Az 14,786 6,000
p 7,393 3,000
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o(1,478,6008 * 2 14,786,0002 14,786 A2,000
p 7,393 A 1,000
= 2,218 A300
z 5,175 ATO00
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p 0 A2,000
< 0 2600
= 0 A 1,400
307 QI2H0IH 5,000 6,000
p 2,500 A3,000
= 750 900
z 1,750 A2,100
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z 15,400 0
201 Ysre | 7,380 A2,000
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